PNEUMATIC COUPLINGS

Y4 (
PNEUMATISCHE KUPPLUNGEN © 4 ; <
7 — v
G0 0.% Y
| | | /
SV
SERIEQ21ID— =
Materials Material Code
. A = Brass Nickel Plated
| . —
ﬂ B = Brass Nickel Plated
. Al JH{H]E
m
| | I_% C = Brass Nickel Plated
n - S = Brass Nickel Plated

-20° to + 100°C (NBR) Shut Off
49 to + 2129F Type

~O>HO-

0 - 35 bar
(0-508 PSI)
OM 178 - 00765
OM 200 - 00450 SAFETY LOCK D N

Air Water
1,2 6.0
1,0 5,0
=~ 08 / 40 /
g / g /
o 06 / L 30 /
o / & /
O 04 A 20 V4
[
2 02 ,/ g 10 /
$ “ 3 v
o o0 & 00 L=
0 50 100 150 200 250 300 0 2 4 6 8 10 12
Flow Rate I/min Flow Rate I/min
Options Plug Profile Serie 021D Compatible with
—— 62— PARKER - RECTUS 21KD
—2,6(—
FPM AlSI316 é l
Stainless Steel ________}___' - NN 88
||

142 —




PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

SERIE 021D

QUICK COUPLINGS SCHNELLKUPPLUNGEN

—O>—| with male thread —O>-| with female thread —O>-l with standard hose tail —O>—| with panel mount standard hose tail

CIETRITSEUNE: CTrECT N E T e T

BSP1/8" 021EGD 10 14 BSP1/8" 021 DGD 10 14 365 16 4mm-1/6" 021 HGD 04 4 mm -M10x1 021 MGD 04 14 61
BSP1/4" 021EGD13 17 39 16 BSP1/4" 021DGD13 17 385 16 6 mm-1/4" 021HGD 06 14 47 16 5mm-M12x1 021MGD 05 17 61 16
BSP3/8" |021EGD17 |19 139 16 BSP3/8" 021DGD17 19 385 16 8mm-5/16"021HGD 08 14 47 16 6mm-M12x1 021MGD 06 17 61 16
M10x1 021EGDM10 14 39 16 M12x15 021DGDM12 17 395 16 9 mm-5/14"021HGD 09 14 47 16 8mm-M12x1 021MGD08 17 61 16
M12x15 O021EGDM 12|17 40 16 M14x15 021DGDM14 17 395 16 10 mm-3/8"021HGD 10 14 47 16

M14x15 021EGDM 14 17 40 16

—O)—! with panel mount plastic hose tail with plastic hose tail —C>-| with plastic hose tail and spring

[

:

T
3143$ 1SL

0D

SW.

Connection Part No. SW| L ‘ @D Connection PartNo. [SW| L @D Connection ‘ Part No. ‘SW L |@D
4x6mm-M10x1 021SGD 04 | 14 55 16 4x6mm-M10x1 021PGD 04 14 43 16 4x6mm-M10x1 021YGD 04 14 1195 16
6x8mm-M12x1 021SGD06 17 55 16 6x8mm-M12x1 021PGD 06 14 43 16 6x8mm-M12x1 021YGD 06 17 1245 16

PLUGS STECKNIPPEL

—O>-| with male thread —O>-| with female thread —O>-| with standard hose tail —O>-W|th panel mount standard hose tail

vl @% g T

SW/ SW/
- Connection Part No. Sw ‘ Connection Part No. ‘ SwW L Connection PartNo. [SW | L

BSP 1/8" 021EUD 10 14 BSP 1/8" 021DUD 10 14 1405 4 mm-1/6" 021 HUD 04 14 51 4 mm-M10x1 021MUD 04 14 65

BSP 1/4" 021 EUD 13 17 43 BSP 1/4" 021DUD 13 17 425 5mm-1/5" 021HUDO5 14 51 5mm-M10x1 021MUD 05 17 65

BSP 3/8" 021EUD 17 19 43 BSP 3/8" 021DUD 17 19 425 6mm-1/4" 021HUD 06 14 51 6mm-M12x1 021MUD 06 17 | 65

M10x 1 021EUDM 10 14 43 M10x1 021DUDM 10 14 425 8 mm-5/16" 021HUD 08 14 51 8mm-M12x1 021MUD 08 17 65

M12x15 021EUDM 12 17 @ 44 M12x15 021DUDM12 17 435 9 mm -5/14" 021HUD 09 14 51 9 mm-M12x1 021MUD 09 17 | 65

M 14 x15 021EUDM 14 17 44 M14x15 021DUDM14 17 435 10 mm-3/8" 021HUD10 14 51 10 mm - M 14x1 021MUD 10 17 65
L L

—
1

W T

Connection Part No. SW| L Connection Part No. SW| L Connection Part No. SW| L
4x6mm-M10x1 = 021SUD 04 14 59 4x6mm-M10x1  021PUD 04 | 14 @ 47 4x6mm-M10xT 021YUDO4 14 1235
6x8mm-M12x1  021SUD 06 17 59 6x8mm-M12x1 021PUD 06 14 47 6x8mm-M12x1 021YUDO6 | 14 1285




